. Yl'ldYPl'EIO NAIAEIAY KAI MTOAITIZMOY
" AIEYOYNIH ANQTEPHS KAl ANQTATHE EKMAIAEYSHE
' YNHPEZIA EEETASEQN

FPANTEX EEETAZEIX A EIZAOXH XTIZ AKAAHMIEX EMMNOPIKOY NAYTIKOY
EAAAAAL NA TO AKAAHMAIKO ETOZ 2012-2013

OEMA: EAAHNIKA
Huepopnvia: 7 louAiou 2012
Adpkeia: 1 wpa

EKOEIH IAEQN (100 MONAAEZ)

Na avamrogere ENA amé ra mo kdrw 68épara (300 - 350 Aégeig):

1. “H Kumrpiak MoAireia divel 1diaitepn onpacia oTnv TOIOTIKY avapdduion Tng
VauTIKrig ekraideuonc xal evBappuvel TOUG VEOUG va ayatrijoouv Tn Bailacoa Kai

Tnv Kutrpiakr] NauTiAia kai va yivouv TTpeoBeuTtég TnG 0€ OAO TOV KGOHO.»

Na avanTifere Tn onpacia rng¢ dpmnag ekmaidevong yia Tov a§iwparko Tou
Eptropikot NauTiko? xai va e§nyrioere 70 p6Ao Tou wg «IPeCPBEUTH» TNG

Trarpidag Hag oe 6Ao Tov K6oHO.

2. «Or véor arjuepa atroreAolv Ta Kupldtepa B0PATa TG TTAYKOOHIAG OIKOVOMIKAG
Ugeong, TTou paoTifel kai Tov TOTTO pOG.  Ta TaAvemoTnUIakd TrTuXia Oev
eEaopalifouv Tia oto VEO TV eMOIWKOUEVN ETTAYYEAPATIK) aTroxataorTaon.
AvriBera, o TpooTTIKEG TOu ' vautikoU emayyéAparog - yia Tnv Kuimpo

TOUAGYIOTOV - (pdivovTal 101680EEC. »

AgoU otnpifere TRV MO TTaAvw Gmroyn, va e§nyfoeTe TOUg AGYOoug Yia TOUG
otrofoug 1o vautiké emrdyyeApa amoteAel - TTapd 1iI¢ SUOKOAEG OIKOVOMIKEG

ouvlnkeg - 51£§od0 yia To guyyxpovo véo Tng Kutrpou.

3. «[pooéAkuan kai Tapapovn Twv vEwv Tng KUTpou oTo vauTiko eTayyeApa.»

Na eionyn0eite Tpé1Troug HE TOoug oTroioug pTTopEi va emTeux0ef o o Tdvw

oT16X0G6.
******************************************************
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YMOYPFEIO MAIAEIAE KAl FIOAITIEMOY
AEYOYNIH ANQTEPHSE KAl ANQTATHS EKMAIAEYSHE
YMHPEZIA EZETAZEQN

FPANTEX ESETAZEIZ INA EIZAOXH ETIZE AKAAHMIEZ EMMOPIKOY NAYTIKOY
EAAAAAZX A TO AKAAHMAITKO ETOEX 2012-2013

OEMA: AyyAika
Huepopnvia: 7 louAiou 2012
Aidpkera: 1 wpa kai 15 Aemrra.

TO AOKIMIO AINTOTEAEITAI AINO TEZZEPIX (4) LEAIAEX
ALL ANSWERS MUST BE WRITTEN IN THE ANSWER BOOK

PART |: COMPOSITION (40 MARKS)

Write a composition of about 200 — 250 words on one of the following topics:

1. Travelling promotes understanding and communication between countries. Discuss.

2, Touriém is-a big business but does it always benefif a country’? What is your opinion?

3. Damage to the environment is an inevitable consequence of worldwide improvements in
the standards of living. Do you agree or disagree?

PART Il: READING COMPREHENSION (30 MARKS)
Read the text below and' do ALL the exercises that foliow:

A Life without Limits
(Veteran explorer Sir Ranulph Fiennes discusses 40 years’ worth of adventures.)

Sir Ranulph Fiennes was the first person to visit the North and South Poles by surface means
alone. He crossed the Antarctic continent in a record 93 days on foot and was first to
discover the lost city of Ubar in Oman. In 2006, at the age of 65, he became the oldest Briton
ever to summit Mount Everest — after two failed attempts and a heart attack just seven
months previously. There is no question that he is an adventurer, a real life Indiana Jones,
and yet for the man himself the label “explorer” does not sit comfortably.

‘I don't like the tag,” he says. “My passport has always said “travel writer”. | think that's a bit
closer! People don't explore nowadays at all. Occasionally there are pioneers — scientists
who might go to an Amazonian jungle to locate new medicines from flora out there, or
specialist glaciologists. In terms of the expeditions I've been on, we probably did the last true
mapping exploration in 1979 when we charted 900 miles of untrodden Antartica, along the
Greenwich Meridian. These days, it's all done in the name of travel.”




Sélf-depreciation is characteristic wheh it coimes to Fiennes, who admits that he is prone to

playing down his considerable achievements saying: “I'm as proud of what I've done as

anyone would be, but there's no art to surmising that anyone really cares. | feel this need to
achieve personally, but once it's done, it's done. Although I'll happily recount a story in an
appropriate setting.”

A former Etonian, Fiennes completed eight years in the British Army, initially in his father's
regiment Royal Scot's Grey, and later in the special Air Service. But military life was an ill-fit
for a man so uncomfortable with discipline and authority.

Instead, expeditions have been part of Fiennes' existence since the late sixties when he led
teams up the White Nile and Norway's Jostedalsbreen Glacier. The Transglobe Expedition
(1979-1982), saw him and two companions travel around the world on its polar axis using
only surface transport, becoming the first men to visit both poles by land, and travelling some
52,000 miles in the process — a feat which catapulted the explorer squarely in the public's
consciousness.

“I do consider that to be one of my greatest achievements, but | still believe there's much to
discover despite the dangers. In one instance, for example, the ice beneath me gave way,
very nearly dragging me to an icy grave. The expedition was plagued by gangrene and
frostbite too, and upon ending the tour and returning to the U.K. | discovered the tips of my
fingers had turned necrotic from the Arctic temperatures.”

A. Choose the best answer A, B, C or D according to the text. '
(5X3=15 marks)

1.  Sir Ranulph Fiennes has been an explorer for _
A. many years.
B. few years.
C. afew years.
D. a short time.

2. Sir Ranulph Fiennes visited the North and South Pole travelling

A. by air.
B. bysea.
C. onland.

D. below land.

3. Sir Ranulph Fiennes considers himself to be
A. anexplorer.
B. a travel writer.
C. a pioneer scientist.
D. an actor.

4. Nowadays people go on explorations because they want to
discover new medicines.

pay a visit to friends.

relax.

travel.

UOw>




o

A. gangrene and frostbite.

B. pneumonia and gangrene.
C. frostbite and heart attack.
D. heart attack and gangrene.

B. Answer the following question

3

Apart from almdéf being dragged to death Flennes had to facé

1.  How many times did Fiennes try to summit Mount Everest?

2.  Why might scientists go to an Amazonian jungle?

3. For what two reasons did Fiennes hate the army?

(3X4=12 marks)

C. Match the words In column A, in bold in the text, with their definitions In Column B.

More definitions than needed are given.

(6X0,5=3marks)
Column A Column B
1. | previously a. | after :
2. | charted b. | tell
3. | prone ¢. | made famous
4. | recount d. | madeamap
5. | regiment e. | made trodden
6. | catapulted f. | likely
. | before
h. | military group

PART lll. USE OF ENGLISH (30 MARKS)

A. Finish each of the following sentences In such a way that it means exactly the

same as the sentence before it.

1.  When the holidays start', you will have already spent all your money.

(time)

You will have already spent all your money

start.

2. -As soon as they went into the room, they ate all the chocolate.

(sooner)

They into their room than they ate all the chocolate.

3. Even though he arrived late, he finished the exam first.

(fact) ,

In spite late, he finished the exam first.
4. [I've got alot of luggage and can't carry it all.

(so)

I've got that | can’t carry it all.

(6x2=10 marks)




s .

5. As Alison was playing with her mother’s:jewellery, she walked in.
(caught) _ : .
Alison’s mother’ : - with her jewellery.

B. Form words from the ones given in brackets and fill in the gaps in the following
sentences. (10X1=10 marks)

Travel

Travel is the movement of people or objects between (1) _ (RELATIVE) distant
geographical locations. The term covers all the (2) (ACT) performed during a travel.
Reasons for travelling include (3) (RECREATE), tourism, research travel for
gathering of (4) __ (INFORM), for holiday to visit people, volunteer travel for charity,
(5) (RELIGION) pilgrimages and mission trips, (6) (COMMUTE), and other
reasons, such as to obtain health care or for the (7) _____ (EJNOY) of travelling. Motives to
travel include (8) _ (PLEASANT), relaxation, discovery and exploration or even taking
(9) (PERSON) time for building interpersonal relationships. International travel

(10)____ (TYPICAL) requires a passport and visa.

C. Fill in the gaps in the following text with only ONE word. (10x1=10 marks)

Deep Sea Animals )
Most of the people know only few animals which they are seeing in their day (1) ____day
life or on TV. Hardly few people have (2) ___ a bit of knowledge about deep sea animals.
Nearly all (3)____ people are well aware that the most common sea animails (4)
fish. But they do not have any idea about the deep sea creatures (6) _____ can be seen
only in the deepest zone of the sea because (6) ____ survive at the down part of the ocean.
The down part of the ocean seems extremely cool because sunlight (7) ____ reach the
bottom of the sea. But the creatures which are living (8) the bottom of the sea
produce some kind of light. Nearly all the deep sea animals (9) ____ akind of sect in their
body which produces light. Deep sea creatures can easily see (10) _____ the help of light
which they produce. '
© Copyright 2012- Ymoupyelo Naidelag xan Nohmopou.
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AAA: B498d-=QOM

9.

€. H onukA ofutnta kat aviiAnn xpwpdtwy mou amatteitat katd etdkdtnta eivat n
akoAoudn: '

Ontikn o§utnta

Xwpig yvaha ME yuaAld AvtiAnyn xpwpatwy
(1) Ynoridrot 4/10 - 4/10 7/10 - 7/10 Ze (10) ISHIHARA
AEN/NAOCIAPXON n 5/10-3/10 Tiou Seiyvovtat
ETUTPETOVTOL

(3) obdApara.

(2) Yroydiot 2/10-2/10 6/10 - 6/10 Avayvwpion
AEN/MHXANIKQN « Pixpwpov davoy.
NMPOLOXH:

1. Oool and toug unoPrpLoug/ec XPNOLLOTOOUV YUOALd OpACEWS, TPETEL va Ta

dE€pouv pali Toug Katd TRV eEETAON TOUG yLa TNV ONTKA ofuTnTa.

2. H YEANEO® ABnvwv-Nepawwg ouvedplalet povo kabe TPITH kau MAPAZKEYH otov
MEIPAIA kot entt tng 0600 pryopiou Aapmpdkn 150 (tnA 210-4191113, 4191555).

3. Na Yrnoprdlo/a yia tov/tnv onoio/a ek80Onke/Katatédnke yvwpoddotnon tng
YEANEO, efartiag Tn¢ OUHMETOXAC TOU HEOW TwV aveAknviwy efetdoewy, edpooov emBupet
va CUUUETEXEL kat pe TR Swadikaoia péow amolutnpiou Aukeiou, Sev anartteital véa
YVWHATEUON.

4, Eniong ot untoyfidot mou eivat kdtoxot MATONOLRTIKOU GTPATOAOYLKIG KATAOTAONG
tinou A’, BeBaiwong avaBoAr¢ otpdtevong fj AnoAutnpiou oTpatou, MPENEL KATA TV
UYELOVOULKN TOUG e€€Taon va ta dépouv pall Toug.

5. H yvwpobotnon tneg Y.E.A.N.E.O. npénel va £xeL nepounvia ékSoong LETAYEVESTEPN
¢ nUepopnviag £€kdoong tng napoloag NPOKPUENS

H. EAENXOZ KAI MTAPANABH AIKAIOAOTHTIKON

1. H naparafri and tg A.E.N. Twv Sikatodoyntikwy twv unodndiwy, npayuatonoteital
HOVO HECQ OTA XPOVIKA Opla 1ou KaBopilovral yla Tov oKomd avtd oto keddAato IT tng
napoloag MPOKAPUENC KOl OAOKANPWVETAL HETA amd EAeyxo TG MANPOTNTOC Kat
KQVOVIKOTRTAS TOUG.

1.1. H Swabikacia mapodaBic kat eAéyxov twv Sikarodoyntikwyv otic A.E.N. Ba
vivetal and ouvepyeia Twv ZxoAwv, mou opilovtat pe H. A/yéC Twv AolkNTWV Kot
QITOTEAOUVTAL UTIOXPEWTIKA AMO:

e évav AELWHATIKO A.X. Kat

* 10 AteuBuvtr g IXoAAC 1} GAAO HEAOG TOU EKMALSEUTIKOU TPOCWITLKOU.

EMNIXEIPHIIAKGO NMPOFPAMMA
EXKNAIAEYTH KAl ALA BIOY MAOHYIH
Y :

L
== EZXINA
2007-2013
- 2= R Saovnupng yio crw gean-ate
YOOYPIENS NAIAEIAZ. AlA BIOY MAGHEHT KAl SPHYKEYMATIIN EVPOEADG ROUMEINIKD TAMEIG

Eupwrraiscy Bvaor, ELalIKH . YITHPESIA OHIAXEIPIELHL
Lt
haaianatd 'S i eveEaTeSSTnon TG ERAGEaC ot Tc Eupuaralfc Bwaonc




YTOYPIEIO MNMAIAEIAZ KAI TIOAITIZMOY
AIEY@YNZH ANQTEPHZ KAl ANQTATHZ EKNAIAEYZHZ
YMNHPEZIA EZETAZEQN

FPANTEZ ESETAZEIX I'A EIZAOXH ITIZ AKAAHMIEE EMMOPIKOY .
NAYTIKOY EAAAAAS A TO AKAAHMAIKO ETOZX 2012-2013

OEMA: MAGHMATIKA
Hpepopnvia: 7 louAiou 2012
Aidgpkeia: 1 wpa

TO ESETALTIKO AOKIMIO AMOTEAEITAI ANO TPEIX (3) ZEAIAEL

OAHIIEX

(a) Na A0oete 6Aeg TIG AOKACEIG aTrd TNV 1 PEXPI KAl TNV 7.

(B) Na xpr]cnpononr’]cms TEVVA -XPWHATOG UTTAE. ATTAVTHOEIG PE HOAURI O€
AapBdvovrai uréyn.

(y) Amayopeleral n xpnon S10pBwTikoU uypoUl i meag tutrou TIPP — EX.

(6) Aev emniTpEmETal N XPHOT UTTOAOYIOTIKAG HNXAVAS.

() Ze O6Aeg TG aoknoelg va @aiveral o TPpOTTog emiAUCAGS Toug. OpBég
anavmoeng Xwpi¢ TV Tapouciaon rng emiduong oe B6a AauBdvovral
uTTo Y.

(o1) MeTd 10 TéAOG TOU €EETACTIKOU BOKIYIOU ETTICUVATITETAI TUTTOAGYIO.

Oépa1°
Na KAaveTe TIG TTPAEEIS KAl va Bpshe Ta QTOTEAECpATA:

1 1
a) —-—+5=
(@) 3 2

(B) 3-(8-2)+2°-25+(4+8)=

(y) 403+ (6,4 0,08)- {%] _

(Movadeg 15)
1




Oépa 2°

AivovTai o1 apiBpoi 31, 13, 8, 10, 26, 20 13, 31, 27, 31
Na Bpeite Tn péan Tign . X, TNV €mMKpaTouca Tlpn X; kai T OIGHETO X5 TWV
apPIBHUIV aQUTWV. .

(Movdéeg 14)

Oépa 3°

Mia mmigiva €xel oxfiua opBoywviou mrapaAnAemimédou. H Bdon Tng €xel
prikog 12m kair TAdrog 4m. Ta va yepioer adeidfoupe oe autr 15 idia
VIETTOJITA YEPETA PE vspo oxfHarog kufou kar akprig 2m. Na Bpeite To BaBog
NG Moivag.

(Movadeg 14)

Oéua 4°

O péoog pioBég twv 15 umaliAwv piag etaipeiag eivar €1650. Av évag
uTTdAAnAog pe pioB6 €1850 agutrnpétnoe kal atn Béon Tou TTPOTARPONKE
véog UTTAAANAOG pe 1086 €1400, Trolog cival 0 VEOC péoog HIoBOS Twy 15
uTraAA AWy, _

(Movadeg 14)

Oépa 5°

- ‘Evag marépag poipace €4500 ora Tpia maidid Tou, To MixdAn, Tov Avpéa Kat
v EAévn. O Avdptag Trripe €100 mepigadTepa amd éaa mApe n EAévn kai o
- MixdAng 1mpe 6ca Tmpav o Avdpéag kal n EAévn pali. Na Bpeite moéoa
XpApaTa wHpe 10 KABE TTaIdi,

- (Movddeg 14)

Oépa 6°

Na Bpeite 10 KEQAAQIO TTOU TOKIJOMEVO HE ATTAG TOKO TTPOG 4% yia Tpia Xpovia
yiveral padi pe Toug 1oKoug Tou €1904.

(Movaddeg 14)




@éua 7°

210 OITTAavo oxApa n Br=18cm

nA=90",n.A=90", n ABI =48’

. Kain BfA = 30°.

(a) Na Bpeite Ta prikn Twv TAsupwv AB, Al
kal BA.

(B) Ma Bpeite 1o epPadodv Tou Tpiywvou ABT.

AivovTai ol TpIYywVOHETPIKOI apiBuoi:

nu auv £Q
30° | 0,5 0,87 - | 0,58

48" 10,74 0,67 |1,11

Inpeiwon: Ta amoreAéopara Twv Trpdﬁawv va divovral pe akpiBeia evog
OekadikoU yneiou.

(Movadeg 15)

LR bbb e et e s ed oottt ittt et ettt ety eyt
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1. Tewperpia:

A) EpBadd Emmrédwy IXnuaTwy:

TYNOAOTIO MAGHMATIKQN

MapaAAnAdypauuo E=p-v
OpBoywvio MapaAAnAdypaupo E=a-fp
Tpiywvo E= %
PouBog B=2r%
Tpatmélio E:_('g‘ +fz)'u
B) KuikAog:
Mrkog KokAou I'=27R
EpBadov Kukhou E = nR’

M) Zrepeoperpia:

Op86 lMpiocua E, =TI V=Eu
OpBoywvio _ V=ca-f3-
MapaAAnAeTTitredo Eo =2(af+ay+ fy) apy
KoBog E,, =6a’ V=a’
KOAIvBpog E,=27Rv V = 2R’

2
Kiovoc E, = RA v = ”R3 v

3

S gaipa E = 47k’ v = 4”3R
2. ATmA6g Tékog: T= KII(-)EOX , 6mTou X xpévia.

Avarokiouog:

K, =K,-(+1)"




